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On three separate diagrams sketch the graphs (i) y =[x, (i) y=Ix-2|, (iii) y=|x]+2.
Label your graphs clearly. [|x|means the magnitude of x, e.g. |-2| =2, |3| =3,etc.]
(N75/P1/10) o : '
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Draw the graph of y = { ] for the domain —4'$ x <4,

(1)  State the range corresponding to a domain of -1 <x < 3.

‘ (i) State the domain or domains corresponding to a range of 6 <y < 12. (377/P1/9)

For the function f(x) = |2A—x|, state th'e range that qorrespondé to .the domain 0 <x <35.
(J80/P1/9i) ' '

Find the range of the function f: x > |x — 1] corresponding to a domain ~3 <x < 3.
(181/P2/9a) ' .

Sketch the graph of y = |8 —3x| for 1 <x < 5. State the range of values of y. (N81/P1/10ii)
Sketch y =|x| for the domain -5 <x < 5. (J82/P1/91)

Sketch the graph of [y| = x for the.domain 0 <x < 2. (I\IS3/P1/IOiii)

Find the range of the function f: X b | 2x~3| for the domain ~2 <x < 5. (J84/P2/10i)

For the function f(x) = |7 - 2x| state the range that corresponds to the domain 0 < x < 8.
(N85/P2/10i)

- Sketch the graph of y = |4 - 3x| and find the set of values of x for which y <2. (Spl1/15b)

Sketch the graph of y = [2x — 5| for 0 <x < 6. Find the range of values of x for which y <4,
(J87/P1/7b)

Sketch the graph of the function f:x > | 2x — 3| for the domain 0 < x < 4. State the range
corresponding to the given domain. (J88/P1/17bi)

Sketch the graph of g:x — |2x+ 3| for the domain -2 <x <2. State the range of the
function for its given domain. (J90/P1/9ii) '

Sketch the graph of y = —[2x — 5| for ~1 <x <4, (N90/P1/10b)

The diagram shows part of the graph of y =3 — |x - 2|,
Find the coordinates of the points 4 and B. (J93/P1/11b)




H 0<y<o9

(i) ~4st—2,2$)¢$.4 ,
0sf2~x<3 '
0<fx)<4

0<y<7




